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4.1 ����	�����������������������	�������	��
(Unit Root Test) 

)�����3��("0����0�&��&/�
0�
��������������
% (Logarithm) &����"#!�"���#$�
(lnCurrent)%��"#!�"�����&����'(��%(lnCapital)%���)��
*�+,�
����
*�"-�������  (lnGDP)���%
Order of Integration ��!���(%0  ���%I(0)  ���%�����3�(%%Level without Trend And Intercept, Level 

with Intercept ���%Level with Trend and Intercept%+%.!������%(Lag) ��!���(%0, 1 ���%2 
�
�$�3�(%
�(�!�%�!����
�%ADF ���13/
��!�
����!��!����6
�% MacKinnon �����3�(��"�$���7% 0.01 #��"�
��(
�


�'���!��%����!�%&/�
0������
����
�����+�1
!����% (Non-Stationary) �����3�(%I(0) ���
��������
�$�����3��( 

�
����(�!�&/�
0�
�����+�1
!���������3�(% I(0)%#��
/���3��(&/�
0�-���3�(% Order of 

Integration ����0�&�	�%������%Order of Integration ��!���(%1  ���%I(1) ��������3�(%First Difference 

without Trend And Intercept, First Difference with Intercept ���%First Difference with Trend and 

Intercept%+%.!������%(Lag) ��!���(%0, 1 ���%2 %
�
�$�3�(  +%��3�(��"�$���7%0.01 %���������(�!�
�!����
�%ADF &�����
���������$���������
��!��/�"��!��!����6
�% MacKinnon ���%��3�(��"�$���7%
0.01 #���8�����


�'�� ���%�������13/�!�&/�
0�
�����+�����% (Stationary) �����3�(%I(1) ���
��
�������$���������% 

�
�����#��+��!�%Probability &��%Time Trend ���%Constant �����3�(%First Difference 

without Trend And Intercept, First Difference with Intercept ���%First Difference with Trend and 

Intercept%+%.!���������%0, 1 ���%2 
�
�$�3�( �(�!�%
��!�%Probability%�/�"��!��!����6
%���%��3�(
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��"�$���7%0.01 #���8�����


�'���!��%��3��!�&/�
0����
���������$���������
�% Time Trend ���%
Constant  

3����	�#������13/�!�% &/�
0�
��������������
% (Logarithm) &����"#!�"���#$� (lnCurrent) 

��"#!�"�����&����'(��%(lnCapital)%���)��
*�+,�
����
*�"-������� (lnGDP)  
�����+�����%
(Stationary) ���
��������%Order of Integration ��!���(%1  ���%I(1) �����3�(%First Difference without 

Trend And Intercept +%.!������(Lag) = 0 3��
�������%4.1 
 

��	�����
 4.1  )�����3��("0����0�&�� &����"#!�"���#$�%��"#!�"�����&����'(��%���
)��
*�+,�
����
*�"-������� 

 

  I(d) Lag 

Without Trend And Intercept With Intercept With Trend And Intercept 

ADF  

Statistic 

1% 

Critical  

Value 

Prob. 
ADF  

Statistic 

1% 

Critical  

Value 

Prob. 
ADF  

Statistic 

1% 

Critical  

Value 

Prob. 

lnGDP 

I(0) 

0 
1.4491 -2.6150 0.9616 -0.7080 -3.5777 0.8347 -4.6649 -4.1657 0.0025 

1 
1.7459 -2.6162 0.9776 -1.1510 -3.5811 0.6874 -5.9312 -4.1705 0.0001 

2 
5.1635 -2.6173 1.0000 -1.0904 -3.5847 0.7116 -0.8750 -4.1756 0.9500 

I(1) 

0 
-6.2517 -2.6162 0.0000 -6.5946 -3.5811 0.0000 -6.5248 -4.1705 0.0000 

1 
-12.4326 -2.6173 0.0000 -16.5556 -3.5847 0.0000 -16.5561 -4.1756 0.0000 

2 -3.5038 -2.6185 0.0008 -5.8152 -3.5885 0.0000 -5.9781 -4.1809 0.0001 

lnCurrent 

I(0) 

0 
0.9772 -2.6150 0.9107 -1.9258 -3.5777 0.3180 -8.0959 -4.1657 0.0000 

1 
2.4444 -2.6162 0.9959 -0.5908 -3.5811 0.8626 -3.5208 -4.1705 0.0489 

2 
2.3010 -2.6173 0.9941 -0.0533 -3.5847 0.9482 -3.6494 -4.1756 0.0366 

I(1) 

0 
-15.5723 -2.6162 0.0000 -16.6024 -3.5811 0.0000 -16.4143 -4.1705 0.0000 

1 
-6.1746 -2.6173 0.0000 -6.8644 -3.5847 0.0000 -6.8237 -4.1756 0.0000 

2 -6.0114 -2.6185 0.0000 -7.8447 -3.5885 0.0000 -7.9365 -4.1809 0.0000 
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��	�����
4.1(���)  )�����3��("0����0�&�� &����"#!�"���#$�%��"#!�"�����&����'(��%���
)��
*�+,�
����
*�"-������� 

 

  I(d) Lag 

Without Trend And Intercept With Intercept With Trend And Intercept 

ADF  

Statistic 

1% 

Critical  

Value 

Prob. 
ADF  

Statistic 

1% 

Critical  

Value 

Prob. 
ADF  

Statistic 

1% 

Critical  

Value 

Prob. 

lnCapital 

I(0) 

0 -0.2990 -2.6150 0.5727 -6.8615 -3.5777 0.0000 -6.9891 -4.1657 0.0000 

1 -0.1545 -2.6162 0.6249 -4.3185 -3.5811 0.0013 -4.4789 -4.1705 0.0044 

2 -0.2422 -2.6173 0.5934 -3.9595 -3.5847 0.0036 -4.3481 -4.1756 0.0063 

I(1) 

0 -12.3344 -2.6162 0.0000 -12.1972 -3.5811 0.0000 -12.0490 -4.1705 0.0000 

1 -7.4428 -2.6173 0.0000 -7.3533 -3.5847 0.0000 -7.2909 -4.1756 0.0000 

2 -8.4469 -2.6185 0.0000 -8.3394 -3.5885 0.0000 -8.3569 -4.1809 0.0000 

����� : #������$���+ 
 

4.2 ����	����	�!�"�����#�$#�%"�&���'��*�$+�	!�!���
(Cointegration Test)    

��"#!�"���#$�%(lnCurrent) ��"#!�"�����(lnCapital) ���)��
*�+,�
����
*�"-������� 

(lnGDP)  

-�����3��(���
��
������"���5�%4 ��+�%���  

1.��+������"#!�"���#$���5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
%% 

2.��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"���#$���5�
��
���
�
%% 

3.��+������"#!�"�������5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
%% 

4.��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"�������5�
��
���
�
%% 
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4.2.1 �	,����	��-���/	!-0��/3��#�5/	���	!
6���������*#,7"���	��*��+�/	!��
�/3��#�5/	

���

 

%%%%#���
������% 3.8 �$�����3��(% Unit Root &���!��!������ ���%( Residual) #�����
���
�+�!����
��
������((% OLS ��+������"#!�"���#$���5�
����������%43"���)��
*�+,�
��
��
*�"-���������5�
�����
�
  )�����������3�1�/3��
�������%4.2 

)����
��
������� �!����"#!�"���#$�  ��(%)��
*�+,�
����
*�"-�������%��+����
��"#!�"���#$���5�
����������%43"���)��
*�+,�
����
*�"-���������5�
�����
�
%%13/3����	  

 

����*#,7"���	��*��+�/	!��
 (lnGDP)  

�
������
��
�������5�3����	 
  lnGDP =   7.9871  +  0.4640 lnCurrent    (4.1) 

      (0.0000)           (0.0000) 

�������' – �!�-�����9(��3��!����
����
�!�#���5�%(P-value) 
 

�!����
�%Adjusted R2 #���((#$�������
��
�����%
��!�%0.8159 ��3��!���������"�����
&����"#!�"���#$�%��
������(�"��������"�����&��)��
*�+,�
����
*�"-�������%13/%�/�"
��%81.59  ����((#$����
��!����
�%F-Statistic ��!���( 209.2324 �!�
����!�%Probability &���!�
���6
�����3�(��"�$���7%0.01 #��"�
��(�


�'������!�%
������������
������(�"
�����
�
13/ 
 

%�
�����#��+��
������
��
�����%�� �!����"#!�"���#$�%��()��
*�+,�
����

*�"-������� (lnGDP) %�!���
��������:%%+ 0.4640 ��3����������&����������"�������"#!�"
���#$�%-��������3�"����%��!�����% ����"#!�"���#$�%�����"���������
&�	�%�/�"��% 1 %#��$�- /
)��
*�+,�
����
*�"-�������  (lnGDP) �����"���������
&�	�%�/�"��% 0.4640 -�������(���
 ����"#!�"���#$�%�����"������3��%�/�"��% 1%#��$�- /%)��
*�+,�
����
*�"-�������  

(lnGDP) �����"������3���/�"��%0.4640   

%)�����3��(���
��
������.��3��"*��-���"�"��  (Cointegration Test) 43"-./�!����

���3�������%(Residual) �$�
��3��(%Unit Root %3/�"����%Augmented Dickey – Fuller Test (ADF) 

���%Order of Integration ��!���(%0  ���%I(0) +%��3�(%Level without Trend And Intercept �����3�(
��"�$���7%0.01%�(�!��!����
�%ADF %%%
��!���!���(%%% -5.3031  %�/�"��!��!����6
%%�����3�(��"�$���7%   

0.01 %;�����!���(%% -2.6150%#���8�����


�'�� ���%��3��!��!����
���3�������%( Residual) 
�
����+����� 3��
�������%4.2 
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3����	�%����13/�!�%��"#!�"���#$�%
����
��
������.��3��"*��-���"�"����()��
*�+,�
��
��
*�"-������� (lnGDP) 

��	�����
4.2    )�����3��(  Cointegration%��+������"#!�"���#$���5�
����������%43"���
)��
*�+,�
����
*�"-���������5�
�����
�
 

Dependent 

Variable 

Independent 

Variables 

Coefficient 

(Std.Err.) 

t-Statistic 

(P-Value) 

Adjusted 

R2 

F Statistics 

(Prob.) 

��
(Prob�) 

ADF 

Statistic 

(1% critical 

value) 

lnGDP 

Constant 
7.9871 20.2523 

0.8159 

209.2324 -0.7482 -5.3031* 
(0.3944 ) ( 0.0000 ) 

lnCurrent 
0.4640 14.4649 

( 0.0000 ) ( 0.0000 ) (-2.6151 ) 
(0.0321 ) (0.0000 ) 

����� : #������$���+ 

 
�"� 
�%: *  
�"���%
���"�$���7���%0.01 
 

4.2.2 �	,��������*#,7"���	��*��+�/	!��
�/3��#�5/	���	!
6�����	��-���/	!-0��/3��#�5/	

���

 

#���
������% 3.8 �$�����3��(% Unit Root &���!��!������ ���%( Residual) #�����
���
�+�!����
��
������((%OLS ��+����)��
*�+,�
����
*�"-���������5�
����������%43"
�����"#!�"���#$���5�
�����
�
%)�����������3�1�/3��
�������%4.3  

)����
��
������� �!��)��
*�+,�
����
*�"-�������  ��(%��"#!�"���#$�%%��+����
)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"���#$���5�
�����
�
%13/3����	 

 

	��-���/	!-0� (lnCurrent) 

�
������
��
�������5�3����	 
      lnCurrent =   -11.8969  +  1.7669 lnGDP    (4.2) 

              (0.0000)           (0.0000) 

�������' – �!�-�����9(��3��!����
����
�!�#���5�%(P-value) 
 

%�!����
�% Adjusted R2 #���((#$�������
��
�����%
��!�%0.8159 ��3��!���������"�����
&��)��
*�+,�
����
*�"-�������%��
������(�"��������"�����&����"#!�"���#$�%13/%�/�"
��%81.59  ����((#$����
��!����
�%F-Statistic ��!���( 209.2324 �!�
����!�%Probability &���!�
���6
�����3�(��"�$���7%0.01 #��"�
��(�


�'������!�%
������������
������(�"
�����
�
13/  
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 �
�����#��+��
������
��
�����%�� �!��)��
*�+,�
����
*�"-�������%��(��"#!�"
���#$�%(lnCurrent)%�!���
��������:%+1.7669 ��3����������&����������"�������"#!�"���#$�%-�
�������3�"����%��!�����% ��)��
*�+,�
����
*�"-������������"���������
&�	�%�/�"��% 1 %#�
�$�- /��"#!�"���#$�%(lnCurrent)%�����"���������
&�	�%�/�"��%1.7669 -�������(��� ��)��
*�+,�

����
*�"-������������"������3��%�/�"��% 1%#��$�- /%��"#!�"���#$�% (lnCurrent) 

�����"������3��%�/�"��%1.7669 

 )�����3��(���
��
������.��3��"*��-���"�"��  (Cointegration Test) 43"-./�!����

���3�������%(Residual) �$�
��3��(%Unit Root %3/�"����%Augmented Dickey – Fuller Test (ADF) 

���%Order of Integration ��!���(%0  ���%I(0) +%��3�(%Level without Trend and Intercept �����3�(
��"�$���7%0.05%�(�!��!����
�%ADF %%%
��!���!���(%%% -6.0177 �/�"��!��!����6
%%%�����3�(��"�$���7%   

0.01 %;�����!���(%%% -2.6151 %#���8�����


�'�� ���%��3��!��!����
���3�������%( Residual) 
�
����+�����%3��
����%%%%%%���%4.3 

3����	�%����13/�!�%)��
*�+,�
����
*�"-�������%%
����
��
������.��3��"*��-���"�
"����(��"#!�"���#$�%(lnCurrent)  

 

��	�����
4.3    )�����3��( Cointegration%��+����)��
*�+,�
����
*�"-���������5�
�����
�����%43"�����"#!�"���#$���5�
�����
�
 

Dependent 

Variable 

Independent 

Variables 

Coefficient 

(Std.Err.) 

t-Statistic 

(P-Value) 

Adjusted 

R2 

F Statistics 

(Prob.) 

��
(Prob�) 

ADF 

Statistic 

(1% critical 

value) 

lnCurrent 

Constant 
-11.8969 -7.1141 

0.8159 

209.2343 -0.8445 -6.0177* 
( 1.6723 ) (0.0000 ) 

lnGDP 
1.7669 14.4649 

(0.0000 ) ( 0.0000 ) ( -2.6151 ) 
( 0.1221 )  ( 0.0000 ) 

����� : #������$���+ 

 
�"� 
�%: *  
�"���%
���"�$���7���%0.01  
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4.2.3 �	,����	��-������'��/3��#�5/	���	!
6���������*#,7"���	��*��+�/	!��
�/3��#�5/	

���

 

%%%%#���
������% 3.8 �$�����3��(% Unit Root &���!��!������ ���%( Residual) #�����
���
�+�!����
��
������((% OLS ��+������"#!�"�������5�
����������%43"���)��
*�+,�
��
��
*�"-���������5�
�����
�
%)�����������3�1�/3��
�������%4.4 

)����
��
������� �!����"#!�"�����  ��(%)��
*�+,�
����
*�"-�������%��+����
��"#!�"�������5�
����������%43"���)��
*�+,�
����
*�"-���������5�
�����
�
%13/3����	 

 

����*#,7"���	��*��+�/	!��

(lnGDP) 

�
������
��
�������5�3����	 
      lnGDP =   13.3206 + 0.0338 lnCapital    (4.3) 

           (0.0000)           (0.6284) 

�������' – �!�-�����9(��3��!����
����
�!�#���5�%(P-value) 
 

�!����
�%Adjusted R2 #���((#$�������
��
�����%
��!�% -0.0165  ��3��!���������"�����
&����"#!�"�����%1
!��
������(�"��������"�����&��)��
*�+,�
����
*�"-�������%13/%
����((#$����
��!����
�%F-Statistic ��!���( 0.2374%�!��/�"��!�%Probability &���!����6
�����3�(
��"�$���7%0.01 #���8�����


�'�� ���%
����������1
!��
������(�"
�����
�
13/  

3����	�%����13/�!�%��"#!�"�����%1
!
����
��
������.��3��"*��-���"�"����()��
*�+,�

����
*�"-�������%(lnGDP) 3��
�������%4.4 

��	�����
4.4   )�����3��( Cointegration%��+������"#!�"�������5�
����������%43"���)��
*�+,�

����
*�"-���������5�
�����
�
%% 

Dependent 

Variable 

Independent 

Variables 

Coefficient 

(Std.Err.) 

t-Statistic 

(P-Value) 

Adjusted 

R2 

F Statistics 

(Prob.) 

��
(Prob�) 

ADF 

Statistic 

(1% critical 

value) 

lnGDP 

Constant 
13.3206 17.5703 

-0.0165 

0.2374 -0.0496 -0.9749* 
( 0.7581 ) (0.0000 ) 

lnCapital 
0.0338 0.4873 

(0.6284 ) ( 0.3347 ) ( -2.6151 ) 
( 0.0694 ) (0.6284 ) 

����� : #������$���+ 

 
�"� 
�%: *  
�"���%
���"�$���7���%0.01 
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4.2.4 �	,��������*#,7"���	��*��+�/	!��
�/3��#�5/	���	!
6�����	��-������'��/3��#�5/	

���

 

%%%%#���
������% 4.5 �$�����3��(% Unit Root &���!��!������ ���%( Residual) #�����
���
�+�!����
��
������((%OLS ��+����)��
*�+,�
����
*�"-���������5�
����������%43"
�����"#!�"�������5�
�����
�
%)�����������3�1�/3��
�������%4.5 

)����
��
������� �!��)��
*�+,�
����
*�"-�������  ��(%��"#!�"�����%%��+����
)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"�������5�
�����
�
%13/3����	 

 

	��-������'�
(lnCapital) 

�
������
��
�������5�3����	 
       lnCapital =   8.8390  +  0.1518 lnGDP     (4.4) 

             (0.0439)           (0.6284) 

�������' – �!�-�����9(��3��!����
����
�!�#���5�%(P-value) 
 

�!����
�%Adjusted R2 #���((#$�������
��
�����%
��!�% -0.0165  ��3��!���������"�����
&��)��
*�+,�
����
*�"-�������%1
!��
������(�"��������"�����&����"#!�"�����13/%
����((#$����
��!����
�%F-Statistic ��!���( 0.2374%�!��/�"��!�%Probability &���!����6
�����3�(
��"�$���7%0.01 #���8�����


�'�� ���%
����������1
!��
������(�"
�����
�
13/  

3����	�%����13/�!�%)��
*�+,�
����
*�"-�������%1
!
����
��
������.��3��"*��-�
��"�"����(��"#!�"�����(lnCapital)%3��
�������%4.5 

��	�����
4.5    )�����3��( Cointegration%��+����)��
*�+,�
����
*�"-���������5�
�����
�����%43"�����"#!�"�������5�
�����
�
%%%% 

Dependent 

Variable 

Independent 

Variables 

Coefficient 

(Std.Err.) 

t-Statistic 

(P-Value) 

Adjusted 

R2 

F Statistics 

(Prob.) 

��
( Prob�) 

ADF 

Statistic 

(1% critical 

value) 

lnCapital 

Constant 
8.8390 2.0719 

-0.0165 

0.2374 -1.0417 -7.0787* 
( 4.2661 ) ( 0.0439 ) 

lnGDP 
0.1518 0.4873 

( 0.6284 ) ( 0.0000 ) (-2.6151 ) 
( 0.3116 ) ( 0.6284 ) 

����� : #������$���+ 

 
�"� 
�%: *  
�"���%
���"�$���7���%0.01 



43

4.3 ����	����	�!�"�����#�$#�%"�&���'��*�$+�	!�!�#;�
(Error Correction Mechanism) 

%%%%%%%% ���#������$�����3��(���
��
������.��3��"*��-���"�"����/�%
/���$�����3��(
���(��������(
��-���"���	�&��
����������%���%
�����
�
%�����- /�&/��0!3��"*��-���"�
"��% 
%%%%%%%%%#������3��(���
��
������.��3��"*��-���"�"��%��	�%4 ��+�%�(�!���	�%��+� ��"#!�"
���#$���(%)��
*�+,�
����
*�"-�������% 
����
��
������.��3��"*��-���"�"��  �!����+�
��"#!�"�������(%)��
*�+,�
����
*�"-�������%1
!
����
��
������.��3��"*��-���"�"�� 

%%%%%%%%%-����������� ����
��
������.��3��"*��-���"���	�%�"����������� ���5�% 4%��+�%��� 

1.��+������"#!�"���#$���5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
%% 

2.��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"���#$���5�
��
���
�
%% 

3.��+������"#!�"�������5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
%% 

4.��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"�������5�
��
���
�
%% 

 

4.3.1 �	,����	��-���/	!-0��/3��#�5/	���	!
6���������*#,7"���	��*��+�/	!��
�/3��#�5/	

���

 

����*#,7"���	��*��+�/	!��

(lnGDP)    
 

 �
���������(
����"���	����-./�3��(%��5�3����	 
 

d(lnGDP)    =   a1 + b1 d(lnCurrent) + b2 E(-1)    (4.5) 
 

%)�����3��(��3�-��0��
���������(
��-���"���	�%3����	  
 

d(lnGDP)    =   0.0079  +  0.0746 d(lnCurrent) -0.3504 E(-1) (4.6) 

            ( 0.2114 )         ( 0.1046 )              ( 0.0010 )  

�������' : �!�-�����9(��3�����!����
����
�!�#���5� 
 

 #��)�����$���+��3�- /� 9��!���"#!�"���#$�%
�)�
!�)��
*�+,�
����

*�"-������� �!���
��������:&���!����
���3�������
��!���5��(%;�����3��/����(�6�<�����!��!�
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���
��3�������-�������(
���&/��0!3��"*��-���"�"��#�
/��
��!�%�"0!-�.!��%0 ���%-1 
�
�6�<�
&��%Engle and Grenger ���
���"�$���7������
�% 

��
������(�"13/�!�%�
������3*���-3=%����$�- /���3��������"�����&����"#!�"���#$�-�
��"�"��������3��"*����/�%#�
����
��9�-�������(
��%( speed of adjustment) &����"#!�"
���#$�������&/��0!3��"*����"�"����!���(%-0.3504 

����13/�!�%��+������"#!�"���#$���5�
����������%43"���)��
*�+,�
����
*�"-�������
��5�
�����
�
%�((#$����#�
�������(
��-���"���	�%3��
�������%4.6 

 

��	�����
4.6  )�����3��(%���������� ��.��3��"*��-���"���	�
�
�((#$����%ECM 

��+������"#!�"���#$���5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
 

Dependent 

Variables 

Independent 

Variables 

Coefficient 

(Standard Error) 

t-Statistics 

(p-value) 

adjusted 

R2 

F-Statistic 

(Prob.) 

DW. 

Statistic 

d(lnGDP) 

Constant 
0.0079 1.2681 

0.1857 

6.2448 

1.4951 

( 0.0062 ) ( 0.2114 ) 

d(lnCurrent) 
0.0746 1.657.31 

( 0.0450 ) ( 0.1046 ) 

( 0.0041 ) 
E(-1) 

-0.3504 -3.5340 

( 0.0991 ) ( 0.0010 ) 

����� : #������$���+ 

�������' : 1.  d(lnGDP) ���%)�
!��&���!�%natural logarithm &��)��
*�+,�
����
*�"-�������            

    2. d(lnCurrent) ���%)�
!��&���!�%natural logarithm &����"#!�"����� 

     3.  E(-1)%���%�!����
���3����������.!�������!�� �/�%1 .!������ 
 

4.3.2 �	,��������*#,7"���	��*��+�/	!��
�/3��#�5/	���	!
6�����	��-���/	!-0��/3��#�5/	

���

 

	��-���/	!-0� (lnCurrent)  
 

 �
���������(
����"���	����-./�3��(%��5�3����	 
 

d(lnCurrent)   =   a1 + b1 d(lnGDP) + b2 E(-1)    (4.7) 
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%)�����3��(��3�-��0��
���������(
��-���"���	�%3����	  
 

d(lnCurrent)   =   0.0141  +  0.8856 d(lnGDP) -0.7227 E(-1)  (4.8) 

            (0.4674)           (0.0537)         (0.0000) 

�������' : �!�-�����9(��3�����!����
����
�!�#���5� 
 

 #��)�����$���+��3�- /� 9��!�)��
*�+,�
����
*�"-�������  
�)�
!���"#!�"
���#$� �!���
��������:&���!����
���3�������
��!���5��(%;�����3��/����(�6�<�����!��!����

��3�������-�������(
���&/��0!3��"*��-���"�"��#�
/��
��!�%�"0!-�.!��%0 ���%-1 
�
�6�<�&��%
Engle and Grenger ���
���"�$���7������
�%  

��
������(�"13/�!�%�
������3*���-3=%����$�- /���3��������"�����&��)��
*�+,�
����

*�"-�������  -���"�"��������3��"*����/�%#�
����
��9�-�������(
��%( speed of 

adjustment) &����"#!�"���#$�������&/��0!3��"*����"�"����!���(%-0.7227  

����13/�!�%��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"���#$�
��5�
�����
�
  �((#$����#�
�������(
��-���"���	�%3��
�������%4.7 
 

��	�����
4.7  )�����3��(%���������� ��.��3��"*��-���"���	�
�
�((#$����%ECM 

 ��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"���#$���5�
��
���
�
% 

Dependent 

Variables 

Independent 

Variables 

Coefficient 

(Standard Error) 

t-Statistics 

(p-value) 

adjusted 

R2 

F-Statistic 

(Prob.) 

DW. 

Statistic 

d(lnCurrent) 

Constant 
0.0141 0.7330 

0.3136 

 11.5076 

2.4116 

( 0.0192 ) ( 0.4674 ) 

d(lnGDP) 
0.8856 1.9825 

( 0.4467 ) ( 0.0537 ) 

( 0.0001 ) 
E(-1) 

-0.7227 -4.7974 

( 0.1506 ) (0.0000 ) 

����� : #������$���+ 

�������' : 1.  d(lnGDP) ���%)�
!��&���!�%natural logarithm &��)��
*�+,�
����
*�"-�������            

    2. d(lnCurrent)%���%)�
!��&���!�%natural logarithm &����"#!�"���#$� 
     3.  E(-1)%���%�!����
���3����������.!�������!�� �/�%1 .!������ 
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4.3.3 �	,����	��-������'��/3��#�5/	���	!
6���������*#,7"���	��*��+�/	!��
�/3��#�5/	

���

 

����*#,7"���	��*��+�/	!��

(lnGDP)    
 

 �
���������(
����"���	����-./�3��(%��5�3����	 
 

d(lnGDP)    =   a1 + b1 d(lnCapital) + b2 E(-1)    (4.9) 
 

%)�����3��(��3�-��0��
���������(
��-���"���	�%3����	  
 

d(lnGDP)    =   0.0094  - 0.0346 d(lnCapital) - 0.0204E(-1)   (4.10) 

           (0.1485)         (0.0107)           (0.6154)                      
 

�������' : �!�-�����9(��3�����!����
����
�!�#���5� 

#��)�����$���+��3�- /� 9��!���"#!�"�����  1
!
�)�
!�)��
*�+,�
����

*�"-������� �!���
��������:&���!����
���3�������
��!���5��(%;�����3��/����(�6�<�����!��!�
���
��3�������-�������(
���&/��0!3��"*��-���"�"��#�
/��
��!�%�"0!-�.!��%0 ���%-1 
�
�6�<�
&��%Engle and Grenger �
!1
!
���"�$���7������
�%  

����13/�!�%��+������"#!�"�������5�
����������%43"���)��
*�+,�
����
*�"-�������
��5�
�����
�
% �((#$����#�1
!
�������(
��-���"���	�%3��
�������%4.8 
 

��	�����
4.8  )�����3��(%���������� ��.��3��"*��-���"���	�
�
�((#$����%ECM 

��+������"#!�"�������5�
����������%43"���)��
*�+,�
����
*�"-���������5�
��
���
�
 

Dependent 

Variables 

Independent 

Variables 

Coefficient 

(Standard Error) 

t-Statistics 

(p-value) 

adjusted 

R2 

F-Statistic 

(Prob.) 

DW. 

Statistic 

d(lnGDP) 

Constant 
0.0094 1.4706 

0.1124 

3.9129 

1.8455 

(0.0064 ) ( 0.1485 ) 

d(lnCapital) 
-0.0346 -2.6653 

( 0.0130 ) ( 0.0107 ) 

( 0.0272 ) 
E(-1) 

-0.0204 -0.5060 

( 0.0404 ) ( 0.6154 ) 
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����� : #������$���+ 

�������' : 1.  d(lnGDP) ���%)�
!��&���!�%natural logarithm &��)��
*�+,�
����
*�"-�������             

    2. d(lnCapital)%���%)�
!��&���!�%natural logarithm &����"#!�"����� 

     3.  E(-1)%���%�!����
���3����������.!�������!�� �/�%1 .!������ 
 

4.3.4 �	,��������*#,7"���	��*��+�/	!��
�/3��#�5/	���	!
6�����	��-������'��/3��#�5/	

���

 

	��-������'� (lnCapital)   
 

 �
���������(
����"���	����-./�3��(%��5�3����	 
 

d(lnCapital)   =   a1 + b1 d(lnGDP) + b2 E(-1)    (4.11) 
 

%)�����3��(��3�-��0��
���������(
��-���"���	�%3����	  
 

d(lnCapital)   =   0.0229  -  2.8144 d(lnGDP) - 0.9708 E(-1)  (4.12) 

             (0.6429)         (0.0109)            (0.0000)  
 

�������' : �!�-�����9(��3�����!����
����
�!�#���5� 
 

 #��)�����$���+��3�- /� 9��!�)��
*�+,�
����
*�"-�������  
�)�
!���"#!�"�����  

�!���
��������:&���!����
���3�������
��!���5��(%;�����3��/����(�6�<�����!��!����
��3�������
-�������(
���&/��0!3��"*��-���"�"��#�
/��
��!�%�"0!-�.!��%0 ���%-1 
�
�6�<�&��% Engle and 

Grenger ���
���"�$���7������
�%  
��
������(�"13/�!�%�
������3*���-3=%����$�- /���3��������"�����&��)��
*�+,�
����


*�"-�������  -���"�"��������3��"*����/�%#�
����
��9�-�������(
��%( speed of 

adjustment) &����"#!�"���#$�������&/��0!3��"*����"�"����!���(%-0.9708  

����13/�!�%��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"�����
��5�
�����
�
  �((#$����#�
�������(
��-���"���	�%3��
�������%4.9 
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��	�����
4.9  )�����3��(%���������� ��.��3��"*��-���"���	�
�
�((#$����%ECM 

��+����)��
*�+,�
����
*�"-���������5�
����������%43"�����"#!�"�������5�
��
���
�
 

Dependent 

Variables 

Independent 

Variables 

Coefficient 

(Standard Error) 

t-Statistics 

(p-value) 

adjusted 

R2 

F-Statistic 

(Prob.) 

DW. 

Statistic 

d(lnCapital) 

Constant 
0.0229 0.4669 

0.5706 

31.5592 

2.0872 

( 0.0489 ) (0.6429 ) 

d(lnGDP) 
-2.8144 -2.6579 

( 1.0589 ) ( 0.0109 ) 

( 0.0000 ) 
E(-1) 

-0.9708 -6.8900 

( 0.14089 ) ( 0.0000 ) 

����� : #������$���+ 

�������' : 1.  d(lnGDP) ���%)�
!��&���!�%natural logarithm &��)��
*�+,�
����
*�"-�������             

    2. d(lnCapital)%���%)�
!��&���!�%natural logarithm &����"#!�"����� 

     3.  E(-1)%���%�!����
���3����������.!�������!�� �/�%1 .!������ 
 

4.4 ����	����������@���&���/3����'�/3���
(Granger Causality Test) 

 �
����3��( ����
��
�����&��
�������	�-���"���	������"�"����/�%�9#�
��3��(
���������
��
�����&��
�����%�!�
�����-3�����5���� 
�% ���
�����-3�����5�)�% ���
�������	�
�����5�
���$� �3;������������%�������
�����
����
��
�������	���������� 
%-�����3��(% Granger Causality Test #�
/��������������� 
��
%( Lag = p) 43"�3��(
 ��!�%Minimun AIC (Akaike Information Criterion)%%43"-./.!����"���������$� �3%�"0!-�.!��%Lag 

= 0 ���%Lag = 2  ��#��+��!�%AIC 
�$���3 

%��+�% ��"#!�"���#$�  ��(%)��
*�+,�
����
*�"-�������  ��#��+�43"�3��( ��!�%
Minimun AIC (Akaike Information Criterion)%%43"-./.!����"���������$� �3%�"0!-�.!��% Lag = 0 

���%Lag = 2  13/%AIC 
�$���3���%Lag ���%2 
��$�����3��(���
��5�� 
���5�)�%3��
�������%4.10 

 

 

 



49

��	��
4.10 ����)�����3��(�!��������� 
���
%( Lag = p) &����"#!�"���#$� ��()��
*�+,�
��
��
*�"-�������   

Lag AIC SC HC 

0 -1.978063 -1.898557 -1.948280 

1 -4.613082 -4.374564 -4.523732 

2  -5.086817*  -4.689286*  -4.937900* 

�����
: #������$���+ 
  

%��+�% ��"#!�"�����  ��(%)��
*�+,�
����
*�"-�������  ��#��+�43"�3��( ��!�%
Minimun AIC (Akaike Information Criterion)%%43"-./.!����"���������$� �3%�"0!-�.!��% Lag = 0 

���%Lag = 2  13/%AIC 
�$���3���%Lag ���%1 
��$�����3��(���
��5�� 
���5�)�%3��
�������%4.11 
 

��	��
4.11 ����)�����3��(�!��������� 
���
%( Lag = p) &����"#!�"�����%��()��
*�+,�
��
��
*�"-�������   

Lag AIC SC HC 

0 -0.042511  0.036995 -0.012728 

1  -2.677145*  -2.438627*  -2.587795* 

2 -2.674621 -2.277090 -2.525703 

�����
: #������$���+ 
  

%#���!��������� 
���
���13/  �$�
��$�����3��(%Granger Causality Test �!�
��������
�$���������%;��������(3/�"%��
��)�
�(���&��3�.�� �������"����!
�������%��(%��
��
)�
�(���&��������%
�����-3��5�
����������%���
�����-3��5�
�����
�
% �����	����
��
�����5�
���������$� �3;������������%��3��!�
�������	����
����
��
����������	����������%
43"-./�
��� 

 4.4.1 �����#�$#�%"	!����� 	��-���/	!-0� (lnCurrent)
�#�����*#,7"���	��

*��+�/	!��
    
����
��
�����������������%��!����� 

��������"�����&�� ��"#!�"���#$� (lnCurrent) �/3������' &����������"�����
&��%)��
*�+,�
����
*�"-�������%(lnGDP) 

%��������"�����&��)��
*�+,�
����
*�"-�������%(lnGDP) �/3������' &�����
�����"�����&����"#!�"���#$� (lnCurrent) 
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 4.4.2 �����#�$#�%"	!����� 	��-������'�
 (lnCapital) �#�
����*#,7"���	��

*��+�/	!��
 

          1
!
����
��
��������%��!�����% 
%��������"�����&�� ��"#!�" �����  (lnCapital) J��J�� �/3� �����'  &�����

�����"�����&��%)��
*�+,�
����
*�"-�������%(lnGDP)  

%��������"�����&��)��
*�+,�
����
*�"-�������% (lnGDP) J��J�� �/3������' 

&����������"�����&����"#!�"����� (lnCapital) 
 

-�����3��(�!����
�%F – Test ����)�1�/3��
����%4.11 

��	��
4.12  ��3�)�����3��(
/�� 
�%(Granger Causality)%�� �!����"#!�"���#$�%��"#!�"�����%
��(%)��
*�+,�
����
*�"-������� (��3�(��"�$���7%0.1) 

�����@����#� (H0) ���+&������ Lag ����K���
F Prob. 
��
��� 

�����#�$#�%" 

lnCurrent 1
!13/��5���� 
�&��%lnGDP 
2 

  3.49158 0.0398 
����
��
�����
��������� lnGDP 1
!13/��5���� 
�&��%lnCurrent  2.70778 0.0786 

lnCapital 1
!13/��5���� 
�&��%lnGDP 
1 

1.52607 0.2233 1
!
�
���
��
����� lnGDP 1
!13/��5���� 
�&��%lnCapital 1.95337 0.1692 

�����
: #������$���+    


